MATHEMATICS

The factors of x> +x—12 are:
(1) (x+4), (x-3)
(2) (x-4), (x-3)
(3) (x+2), (x-6)
4) (x+3), (x—4)

In atriangle ABC, ZA=60"and AB=AC,
then the AABC is called :

(1) aright angled triangle
(2) an isosceles triangle
(3) an equilateral triangle
(4) a scalene triangle

In the given figure x*=144° find y"= ?

ye
A« 5 y’" B

>

1) 36° (2) 46°
(3) 216° 4) 226°

If (a+b)2=144 and (a—b)2=4 then the
value of (a +b)2+ (a—b)2= 3

(1) 49 (2) 148
(@) 12 (4) 25

The points (-8, —15) lies in which
quadrant ?

1 1 2) 0
(3) I 4 IV
1 1

Simplify : g“ 3
2 - &
N = @ 3
10 3
G - @ 10

y

10.

11,

12.

Find the square root of 6.25.
(1) 0.025 (2) 2.005

(3) 2.05 4) 25

If 2y—7=1, then the value of y is :
1y 3 (2) 4
3 -4 @ -3

The product of (x —1)(2x —3) is :
(1) 2x*-5z-3 (2) 2x2-5x+3

3) 2x24+5r-3 (4) 2x2+45x+3

The price of a scooter was T 34,000 last
year. It has increased by 25% this year.
Then the increase in price is ;

(1) T 6,500 (2) T 8500

(3) ¥ 8,000 4) T 7,000

An almirah was sold at ¥ 5,225 after
allowing a discountof 5%. Find its market
price.

(1) 5,050 (2) T 5,000

(3) ¥ 5,500 4) T5725

Find the perimeter of the quadrant of a
circle of diameter 84 cm whose in between
angle is 90",

(1) 150 cm (2) 120 em

(3 21 em (4) 42cm
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13.

14.

15.

16.

17.

18.

19.

Subtract 2(p —q) from 35p—q+3): 20. The longest chord of a circle is :
() 17p-q-9 (2) 13p-—q+9

(1) radius (2) arc
(3 17p-5q+9 4) 13p+q-9
(3) diameter (4) tangent
Find the average of 3, 6, 9, 12, 15.
1) 6 @ 7
(3) 8 4 9 2. 1123 58, %
(1 21 (2 15
The multiplicative inverse of —~7is:
3 (3) 13 (4 27
m 7 @ =z
=3 22, 2P =2
@ -7 @ - yie7y
M -6y (2) 6y
The square root of 169 is : "
(1) 13 2) 15 @) 6y’ @ -~ gV
3 17 4) 19
The coefficient of x* in 23, 1f 12°=144 then x=2
~5¢7 + -;x" -3 + 7% -1 js . M 3 (2 2
1y -5 2 -3 (3) 4 (4 6
-,
() > @ 7
24. The median of 17, 15,9, 13, 21, 7, 32 is :
If 6x=72 then the value of x is : a 7 (2y 32
( 13 @ 12
& 11 ) 14 (3) 15 (4) 13
PR 25. Which of the following sets of
(1) =r® sq.units measurements will form a triangle ?
(2) (1) sq. units
; (1) 12cm, 10 cm, 25 cm
i’ .
(3) g (2) 9cm,7cm, 16 cm
(3) 23ecm, 17 em, 8 cm
4) —— sq. unils
@ E (4) 5cm,3cm,9cm
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& 6u0f1 5 LD

¥2+x—12 @it smyswflEs : 2
(1) {T+4] (T—?}
(2 (x—4)(
3 & +2] (1' 6}
(4 (x+3), (x—4)
AABC @ ZA=60° wpmih AB=AC >
sreuflsb, AABC e :
(1) GlemGsmemr (p&Gcsmsmd
(2) Emswuss p&Gcsremd
(3) HWUES (P&GESHTEBTLD
(4)  oswLES (Lp&GeTsTLD 5
Car@ssiul Mstar ULSSH0 x°= 144°
eTesfled, 1= ?
C
x/"/ 10.
A< I 8
(1) 36° (2) 46°
(3) 216° (4) 226°
(a+b)2=144, (a—-b)2=4  ererflev,
(a+b)2+(@-b2=__
(1) 49 2) 148
(3 12 4) 25 Ak
(—8, —15) erearm yeirerfl suemrLL SeHl6v 6758
sreuGSuilsy gemuowyn ?
(1 1 (2) 1
(3) I ) IV
K g .=
SOHES 5Ty T ————— 12.
2 W
1) =5 @ 3
10 3
G = @ 0

6.25 @)68T suT &8 pLPGLD SHTEHITS :
(1) (2)
(3) (4 25

0.025 2.005

2.05

2y —7 =1 ereufléd, y —sd1 Lol :

1) 3 (2 4
@) -4 4 -3

(x—1) (2x—3) @er wH :

) 2x*—5x-3 (2) 2x®-5x+3

(4) 2x2+5x+3

Glasorm gy euor® @, susnlLiflar allsme

T 34,000 @bg ysor(h @ser aflmev 25%
& (HGsuTdleTma) 616uflev, o (D60 aflsmev :

(1)
(@)

¥ 8,500
T 7,000

% 6,500 (2)
Z 8,000 (4)

et gyeveomfl 5% seirermLiguiled T 5,225 -5
alpsiuGdams. sir  GSHES
aflemeuemiLg STeoos :

(1)
(3)

% 5,050 (2)
2 5,500 (4)

¥ 5,000
35725

(5 L Sdler el 84 Q.. whmi
s @lemLtul L Gamemrin 90° srevflsy,

D|S60T SHMeveUL L SSI6IT SHMeTEY :
(1) 150 Gla.ib. (2) 120 Q&.f.
(3) 21 Q&b (4) 42 Qeib.
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13.

14.

15.

16.

17.

18.

19.

3(5p —q+3) e0mmEal 2(p —q) 05 S&s
(1) 17p—q-9 (2) 13p-—-q+9
(3) 17p—-5q+9 (4) 13p+q-9

3, 6,9, 12, 15 @euipeir sqreif :

1) 6 @ 7
(3) 8 @ 9

~ 7 =i Gumess semeudif :
1 7 () ;

-1

3 -7 @ =
169 —6iT auIi&aeLpsuLd :

1) 13 @ 15
(B) 17 4) 19

—5x7 +

5;—3:4 — 3% + 7% —1-60 14 —ar
Q& :
(1) -5 2 -3
3
() = 4 7

6x =72 ereufled, x —6ar Lo&LIL :

(1) 13 () 13
(3} 11 (4) 14
0T e L GSkir LTiusTe :
(1) % & gpu@ssr
(2)  (wr)? & jeu@Gamsit

2
(3) % &. QPVGT6T

2
(4) % &. PGS

20.

21.

22,

23:

24,

25.

(% sul L Sdletr Blebluflu mmeter, o860

_ ereorCau(bub.
(1) oumbd

(2) el

(3) efilLid

(4) GsrEGasTE

(1) 21 (2) 15
(3) 13 (4) 27
-2P3+72 =7

(1) —6y? (2) -6y
3 3 i l
(3) —6y (4) i
12% =144 eteeflen, x =

(1 3 2) 2

(3) 4 4) 6

17, 15,9, 13,21, 7, 32 @euipfisir Gewr_Hlsmsv -
(1) 7 (2) 32
3) 15 4) 13

Sp&aTEh Uss Imeysafld e
(PESCHTETSHMS |FDDSHGHLD ?

(1) 12 @&uf., 10 Q&af, 25 Qa.if.

(2) 9 G&if., 7 Q&if., 16 Q&b.

(3) 23 Glgad, 17 Q& 8 Ge.if.

(4)  5G@&uf, 3 Q&b 9 Q&b
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